
       

      
      𝑓(𝑥) = (𝑥 + 6)

      𝑔(𝑥) = −3𝑥     𝑓(𝑥) = 𝑥

    𝑓(𝑥) = 3     

    𝑓(𝑥) = 3   

        
 

       


    𝑦 = 𝑎(1.6)               


      –               

       
      
       

      
          
       

         


        
𝑓(𝑥) = 𝑥 + 10𝑥 − 9    
 



            

                    
   

                 

16)                   
         
 

 
 

             

              
𝑦 = 3(𝑥 − 2)(𝑥 + 4)

  𝑓(𝑥) = 3𝑥 − 24𝑥 + 5               

                
       

 𝑓(𝑥) = 64(0.87)

         



    𝑦 = 2𝑥 + 4𝑥 − 1

                      
       𝑉 = 3700(1 − 0.18)              


         


         
 

        
      
       

         
          

              

 Joey and Jane were working on transformations together in Mrs. Jone’s class. Each of them came up with a different answer 
                
student’s answer is     

 
 

 
 



                   
                 
  






 



                    
       

Joey’s Answer:
𝑦 =  −3(2)() + 6

Jane’s Answe

𝑦 =  −
1
2

(2)() + 6

    
     

 What is correct about Joey’s 
  

What is incorrect about Joey’s answer 
 

 What is correct about Jane’s 
  

What is incorrect about Jane’s answer 
 


